Subject: NDHS 2011
Posted by Jeevana on Mon, 31 Aug 2015 06:05:39 GMT

View Forum Message <> Reply to Message

Hi,

| am looking for antenatal care and skilled birth attendants in Nepal. Number of more recent birth
five year before survey is 4079.

| ran

generate wgt=v005/1000000

| did not get

tab antenatal[iweight=wgt]
Is this for weighted percentage and number of observation?

how do | use svy syntax?
| am using mothers with most recent birth (4079), Do | need to apply subpop in my syntax?

svy, subpop .........

Please help.

Thank you
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